Spyder Flash

4G
-
2y ey
5|
TR R . —
=T i iE LT ‘
v R Tqﬁk 2a B T4 T Ziy
0 00 ¢ ldu
9 | 99 99 3 |
aOL
1444H
1
-Q37c '
1435
1444 371C ni i:mn

371

s -I]--Gb-%tﬂ--m*' i i

Q

37D 42F
J6E 3I6E

NEW ITEM # | NAME OF PARTS 15351 Drop Forward (purple/blue)
01 Barrel Plug 1544H Model § Expansion Chamber (purple/blue
02J Barrel Insert 1547G: Beaver Tail (purple/blue)
03A Ball Bearing 235 C/A Adapter
03B Spring 19A Strilker (-ring
03 Ball Bearing Cap 128 M4x8 Screw w/ washer
4G Detent Cover 21B Quick Disconnect Pin
05A M4 X 6 Screw (black) 3C Disconnect Lock Pin
058 M4 X 6 Screw w' washer (silver) 26A Striker Buffer
05C M4 X8 Screw w washer 27A Flat Disc
07 M4 X 14 Screw w/ washer 298 Lock Screw
) O-ring #015 80D 29%C Thumb Adjuster w/ Lock Screw
9B Bolt O-ring 33F Not Screw
10A Valve Spring 360 532" x 58 Screw w/ washer
1 Cup Seal Guide 36E 532" x 18" Screw w/ washer
13 Valve Pin 37A Fitter O-ring #009
124 Cup Seal (brass) 378 Air Filter
14 Valve Body 7c #0011 O-ring
15 Valve Body Screw 3 Plastic Washer
16 M5 X 12 Screw w/ washer 198 Cocking Rod (silver)
20 Barrel O-ring 39C Cocking Rod (black)
21 Bolt Pin 41H Spyder Flash Spare Parts Kit
n Bolt Screw 42F M8 x M8 Adapter
5 Siriker Spring JEL000 ESP Classic Trigger Frame (black)
27 Strilker Spﬂn-; Guide Parts inside #JE1000 ESP Classic Trigger Frame;
37) Disconnect Hose 48 Trigger Roll Pin
1406 Flash Receiver igreen/black) 498 Sear Roll Pin
1408 Verical Adapter (green/Mack) 49C Touch Switch Roll Pin
1435 C/A Adapler (green/black) E30 Led Light Indicator
144 Mini Fore Grip (Greenblack) E3 ONJOFF Screw (M2 x 6)
1402E Flash 12" Barrel (green'black) E33A ON/OFF Switch
144G Direct Feed (green/black) JBISC Coil Set
1408L Low Pressure Chamber (greenblack) JEI2 Sear
1417H Venturi Cocking Bolt (green/black) JEI5 Copper Screw
1428C Striker Plug (green'black) JEISA Striker Bolt
14351 Drop Forward (green/black) JEI8B Coil Set Screw (1/87)
1444H Model § Expansion Chamber (green/black) | | JE26 Charge Pin
14476 Beaver Tail (greeb/black) JE27 Touch Switch
1506 Flash Receiver (purle/black) JE29 Circuit Board Screw
1508 Vertical Adapter (purple/blue) JE3B Lock Switch
1535 C/A Adapter (purplebloe) JE3IC Trigger
154 Mini Fore Grip (purple/blue) [ JEME Sear Spring
1502E Flash 12° Barrel (purple/blue) JE3IF Trigger Spring
15046 Direct Feed (purple/blue) [ JE3ID Trigger Adjust Screw
15081 Low Pressure Chamber (purpleblue) JEIZA ESP Grip Cover
1517H Venturi Cocking Bolt (purple) JE33C Grip Cover Screw
1528C Striker Plug (purple/blue) [ JEIOIS Rechargeable Battery 9.6v

NG et ) JEIIC
| b

L)

i

E3A 4

mi} JE33C



